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Ve AL R

EFRAS R H S
202141 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.009 - 0.138 0.018 &
LA i 1.512 0.001 - 0.533 0.097 =
/L&, (HCI) 4.545 0.000 - 0.298 0.202 =
mIbE (HF) 0.306 0.002 - 0.078 0.040 =
— &b (SO2) 15.147 0.003 - 3.178 2.129 =
—4&bi% (CO) 7.578 0.000 - 0.346 0.120 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.828 - 12.255 1.718 =
s E
(b) [FFEEH - HI9ME (HSEFRENASKEE)
(A 0.756 0.013 - 0.025 0.018 &
HEA T 0.756 0.022-0.171 0.097 =
/L4, (HCD 0.756 0.131 - 0.250 0.202 =
wAbE (HF) 0.072 0.026 - 0.051 0.040 s
&R (SO2) 3.789 1.681 - 2.415 2.129 =
—&Ei% (CO) 3.789 0.030 - 0.200 0.120 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.239 - 3.110 1.737 =
ETHE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
IR R g ) 7.575 x 107 <6.059 x 1020 &




Ve AL R

EFRAS R H S
202141 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.016 0.005 &
LA i 1.512 0.028 - 0.579 0.102 =
/L4, (HCI) 4,545 0.005 - 0.332 0.212 =
mIbE (HF) 0.306 0.000 - 0.079 0.027 =
— &b (SO2) 15.147 0.377 - 4574 2.236 =
—4& kbR (CO) 7.578 0.009 - 0.156 0.074 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.326 - 9.579 1.377 =
s E
(b) [FFEEH - HI9ME (HSEFRENASKEE)
(A 0.756 0.003 - 0.007 0.005 &
LA 0.756 0.044 - 0.193 0.102 =
Z/LE (HCI) 0.756 0.138 - 0.293 0.211 s
wAbE (HF) 0.072 0.007 - 0.047 0.027 =
— &b (SO2) 3.789 1.907 - 2.555 2.236 =
—&Ei% (CO) 3.789 0.051-0.112 0.074 g
HAY (NOx)
DL=%AEE (NO2) 15.147 0.710 - 3.553 1.380 =
ETHE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0050 &
IR R g ) 7.575 x 10°° <5.606 x 1020 &
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EFRAS R H S
202141 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.050 0.007 &
LA i 1.512 0.031 - 0.522 0.080 =
Z/LE (HCD 4,545 0.017 - 0.381 0.185 TE
mIbE (HF) 0.306 0.000 - 0.068 0.034 =
— &b (SO2) 15.147 0.013 - 6.163 1.622 =
—4&bi% (CO) 7.578 0.000 - 0.150 0.028 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.470 - 7.095 1.296 =
s E
(b) [FFEEH - HI9ME (HSEFRENASKEE)
(A 0.756 0.004 - 0.022 0.007 &
HEA T 0.756 0.050 - 0.141 0.081 =
/L4, (HCD 0.756 0.075 - 0.250 0.183 =
wAbE (HF) 0.072 0.020 - 0.040 0.034 =
— &b (SO2) 3.789 1.173 - 1.850 1.626 =
—&Ei% (CO) 3.789 0.015 - 0.043 0.028 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.660 - 1.828 1.291 =
ETHE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575x 10°° <5.801 x 1010 =
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(i) TR FTR ARFHRL T - BIZESR VAL T AR SR B E AL Ry 10um B/ -
(iii) fERHT 30 o8 foie = 8 /NRFHUBHANHYFEE - BREEE ~ B ~ &% ~ 56 - 83~ 81~ &f - SR -
(iv) 1£ 6 2 8 /NEFHURIIAAYFH(E -



